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HERNO 17
il 3=y
NE {3z FR4A 7V4H7F B
1 |RRETIIMEEERR ZFNOPYYT7FNYAT LI Hy Y 248.862
2 [BREFHFEER 4773 roHyaAY 243.463
3 |EHERSFER v A 2= LR b D=1 238.495
4 |BESFER ZoFvavbkwuAvav 233.894
5 [HKMIZHKEESRK AXIVYY4RXIvay¥avavay 233.628
6 |LEXFMEARSEER CVEARAHO T/ 04447 2 HyaAY 231.695
BABE
Nz EF4 7V HF FR4 7V HF B
1 A% KRB Y/ H4 FENL |MBETIMESEER TFRYYYYTFAYAG R Ay Y 83.765
2 |fEtk XiE 7913y vk |BRASEFEER A4 7avbvHyan 81.632
3 |As Xt hoa=24*% MtE T I E S F AR 7FRYYVYTFAYAT I H Y AT 81.332
4 |IREEEE NYF7 a7€4 |METILIKRESEFRR TFRYLYYTF YA I H YAy 81.198
5 [uigBE Ye9* hA b HZKk T3 HH KRR SR AXIYYY4XIvayFayavay 80.898
6 |/Jv& M Fo2 FH FRSEER 47 b HyaY 80.865
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EEENO 17
{2 EFH 7V HF FR4 7V HF &=
1 (B RX NIRFy 4% ST AMES FFR FFRYLYYTFALAY E Ky AY 14.633
2 /NS EM *I< FF FRSEER 479 bvHyay 14.266
3 (AR &RA AT ¥UH EHEREERR YoovHs4aAY LAy Y 14.100
4 WLk BE Y<4x hqA4 b MK HAKEEESK AXIYYV4XIyarFavavay 14.000
5 |f&Et XiE 791 %Y nvE [ERSEER A47avbvHyan 13.900
6 |E5 fRAKEP 22 X207 | FEESEER s =L b D=L 13.833
HAE
Nz EFA 7V HF FR4 7V HF B
1 | #EzE Y& 97/ Ry |HATIZHKEESK AXIYYY4XIvayFavayay 13.966
2 |BE KRB v/ HA FPENIV | IREHIIMESFER TFRYSVYTFRYAT RIH YAy 13.800
3 [ERZFA *¥7 <5+ FINRIAISWILERFFR  |pHvrvvvsnwyrsastynyay 13.666
4 (PR TRyvov BAGBERZEREZFRR |=vrvsao8nr15a0b5ya9 13.100
5 |fEtk xiE 791y nvE [ERSEER A4 7avbvHyan 12.900
6 |fE4K I YH¥*av b B RINEMBAL TREF R [pxrrrvvynveyvavsravsasasionyas 12.833
e}
Iz EF4 7V HF FR4 7V HF &=
1 |IREEE NV Fy a4 |(REHILMEEEFER 7YY YYTFAYAY R YA yaY 14.066
2 |uksBE Y<Hx a4+ kI HAKEESK {XIPYYA4XIvarEavanay 14.000
3 |BlE XF h¥4 AL BEEREER Z4FvagroHvay 13.966
4 |t KIE 7Ry nvE [ERESEER 479 bvHyay 13.866
5 (PR TRFvoY BAGBERZERSFFR |=rrva1o500zr5a9r95y30 13.600
6 |BEMH FoX 2% HMHESFER Zy&aAyroHvay 13.566
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RENO 17
{2 EFH 7V HF FR4 7V HF &=
1 (L XKE Javrv &1 % BEEESFER y b =L/l b D=1 15.000
2 kX EHE *FXEFVUT BERERFER tA4Z7avboAHyay 14.800
3 |AE RiE v/ HA FENIV |IREBEHRILMESEFER FFRYLYYTFALAY R Hy Y 14.766
4 |AH X NI2= 4%  |MEBTHIMESFRR TFRYLYYTFALAYEYH Y AY 14.700
5 |FBim RXK AVAR: iy 2 HE TS S FFR 7FRYYYYTFAYAY LISy AY 14.633
6 |&=EFi 7LO YT BASEALMNESZSR |rectsszvarnisrysastosyay 14.533
FiTH
Nz EFA 7V HF FR4 7V HF &=
1 |AE KB V) HA FPENL | MEBETINESEER TFRYLYYTFALAT RS HyaY 14.433
2 |/ EM o2 FF FRSEER 479k Hyay 14.200
3 REEE NYFy a4 |(MEHIIMEEFER 7FRYYYYTFAYAY R YA yaY 14.133
3 |An XHE hos=— 24% MEHIIMIESEER JFRLLYYTFRLAY LI Hy A 14.133
3 |fEtk XiE 7NV NnLE [FREEER A4 7avbvHyaY 14.133
6 |Bil Z=fk hav= 72y |[EHEREESERK YoovHs4vaybyHyay 14.033
i
Iz EF4 7V HF FR4 7V HF &=
1 |Bs XH hoa=24*% HtE T I E S F AR TFRYYYYTFRLAY RIH AT 13.900
2 |BE KRB Y/ HA FENL | MEHIMESEER TFRYYYYTFRLAY RIH AT 13.700
3 |IRE EE Ny F7 a9t€4 |METIIMESEFRER TFRYLYYTF LAY R H YAy 13.533
4 |RH RN YZL TA4Vay |[BFRAEEER 479 bvHyay 13.500
5 |FAi Z/K he¥<2 727 |EHEREEFER VA2 PR LA L PEL) 13.300
6 |iB/R ihE h¥yT77 V7% B KXEMBAREEFFR |evs15490777 24243995739 13.166
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